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General Instructions :

(i)
(i1)
(i11)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)

(x)

31/2/2

The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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SECTION A

1. 39 g9 Uit o a4 el o H-gH fafagu feehr sehmfcres g
— CHO? | 1

Write the molecular formula of the first two members of the homologous
series whose functional group is — CHO.

2.  HHGl H 3F 3 1 A fARGT S (1) T S hIfSrept, W (ii) ATET ST HITehT
39T BT 7 | 1

Name the organ in humans which produces (i) male germ cell, and
(i1) female germ cell.

3. gl 1 Wepfeh I <l =t SIS | 1

List any two natural ecosystems.

4. Ffafaad sm@ =t o IT-gfeds W it wafdd fomr 1 g ey |
Y TG W TG hIU (£ i) 3T Wedd HIv (£ 1) H 3Afrd Hifvw | 2

T~
]

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

T~
]

5. O ad &l ‘N9 fafagar @ fafdre Ta@” w9 9= S1ar g ? U B3 4 U™
gATT Sk g I STtk o IR -5 o Ja-od H JHTE! ANGH ¢ Hehal
7| 2

Why are certain forests considered “biodiversity hot spots” ? Suggest any
two ways in which an individual can contribute effectively to the
management of forests and wild life.

31/2/2 3 P.T.O.
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Sfiaredft o1 % T& o IcUTal sl T TR | T IcUGH b TATGRUT W FTHHRD
THTS 1 Ieaid I |

List the products of combustion of fossil fuels. State the harmful effect of
these products on the environment.

fopet T Y TemTY] T 191 |

(a) 39 o< o1 Soeeieh (o= foree o8 fuifa i o6 () 30 o
TSRl T 8, QAT (ii) I I8 ded €1g 3 31T 34T |

(b) 38 O o ATFES Hl g foAfEu |

(¢) @ I8 awd Na (W] & 11) sl gan o 3ifees srfufsramsfiar 2
e 9 Iffsharsiier ? o I Y I afga giee Hifvu |

The atomic number of an element is 19.

(a)  Write the electronic configuration of this element and determine
(i) the valency of this element, and (ii) whether this element is a
metal or a non-metal.

(b) Write the formula of the oxide of this element.

(e) Is this element more reactive or less reactive than Na (atomic
number 11) ? Justify your answer giving example.

fopelt otrad Wl § aeai o arfiehtur o ot wRwTY] geaw Rt o H W]
TEAT ! ATk ITYh Trad FA T SATAT § 2 IMEeh Aad anelt 7 (1) fepedt
ad § T8 TR ¥ ¢ 3R I W, AR (i) fre oy # W @ =9 91 W
qedl 1 difcash @&T0 fohE SRR IiEfd BIaT & 2 3794 AU <hl hRUT Afgd gfe
SHINT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

st o1 1v-ga foflan, oft sueht dwem difuu | arfernt & &9 # 39 <) on
o1 gl 10 P mEEi A S A A e
Write the molecular formula of benzene and draw its structure. List in

tabular form the two properties in which covalent compounds differ from
ionic compounds.



10.

11.

12.

13.

14.

15.

16.

31/2/2

U G4 g AT i foh TEr Fi § Foh e 7 d1 C4+ 9\ o1 Fehal @
3R T & C4~ RO 1 Tohell &, Trg I8 FgarStt JMfieh SH1aT B S foega 6
FHETETh BId & ST et 3 e 3R e FaeqTeh 8iam & |

Explain, giving reason, why carbon neither forms C** cations nor
c4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

fore 3 TEfS & 3gWa H TgE fohmgl o9 SRl i I ST IR T&H
1 yftrerr &1 3w fawg § sg@ Al |

List any three factors and mention how they could lead to the rise of a
new species.

Sai ¥ faerreia ey @ie i forgl dF faferi =1 aoiq hifse |

Describe any three methods of tracing evolutionary relationship amongst
organisms.

et 0 fafiysar forg g Ico= gidt & 2 “fafimar wfisfig <61 Sashifeaar s9m
@ | 3T B 1”7 39 heH 1 gfee foreht 3aretw 1 e | Hifs |

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

YTegad 1 3§ 2 Tt weh Sfia o1 Ierewr difsre S g| ufshan i gwifar @ s
T e ST 39 lshAT ohl 81 quidT & | 91G Tl Sl H YAegHa i g1 il ?
What is regeneration ? Give one example of an organism that shows this
process and one organism that does not. Why does regeneration not occur
in the latter ?

AT T 7 ? 39k ¢ TH@ ST 1 9uiF HIT |

What is placenta ? Describe its two major functions.

fopet <@ g0 & gfdfera &1 3@eq — 1 = | If¢ viafers i <@ % TR
%5 8 gl 35 cm 7, @ fora el foud 8 2 39 o9 i wohid 3T e gl =
2 2 3fe fora il 9 & THIIRF g Sl 3R 20 cm TAFFARG X feam S, ot
SfleFsl gl ST 3R $Eeh! Thid a1 BRT ? 319 I 1 gfed o T fomom
M@ Wi |

The magnification of an image formed by a lens is — 1. If the distance of
the image from the optical centre of the lens is 35 cm, where is the object
placed ? What is the nature and focal length of the lens ? If the object is
displaced 20 cm towards the optical centre of the lens, where would the

image be formed and what will be its nature ? Draw a ray diagram to
justify your answer.

5 P.T.O.



17.

18.

19.

31/2/2

YHTI hT YhIUH T 3 ? 3 UNEeAT Sl TgRAl ¥ AR Hife fh @@=
TR 1 TT et o FAIeT o 999 I TN F1 Jdfid gl & |

What is scattering of light ? Use this phenomenon to explain why the
clear sky appears blue and the sun appears reddish at sunrise.

YT HTATS i Ted & I8 I off o6 wati o W@ (@) aft & fofw s

TSR B & | T g 381 TH=R-u | I Uel o aT9R # 3ucey $®

FUET o Bl b W H S W doh HISHATA UTT TT | 9 AR I8 D &l

g, T digehTell R Tareey & fore et 8 § |

(a) 319 IO AIATSH 1 BT TSR GRT Bl o L@l hl TGAd AT
fope ToRR | 2

(b) I§ el T & Fop 77 BeR digsarelt gAR Sten o= Sl % IR @
TAY ek HRd Bd I § 3 U HE § 1fiek g W gHR S
Hiqued ek B Ugdld & | 38 GREeAT ®1 AW IR 36k fowa #
faRem |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.

I H o TH W T gl (w) o W Sfferegl (v) % =R i gRid A
frfaRaa Yeror arferert w1 farzeiwor i ot afterer fopg fom & fmfofaa
T % IR AT

P -t et
g u (cm) v (cm)
1 - 60 + 12
2 -30 + 15
3 - 20 + 20
4 -15 + 30
5 —-12 + 60
6 -9 +90
6
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(a)
(b)

(c)

I | H BishE gl Tehat B 2 379 I % foig o T |

I8 faragll (w) F1a IS et deaedt glaferagll (v) w8l 781 8 | 98
fasrd oA forg weer fepTeT 2

s W IUTH UM TR T&T0 T&AT 4 o Torw fomtor o ifew 37X
TG T U TH 1 I |

Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

3. No. Object-Distance | Image-Distance
u (cm) v (cm)
1 - 60 + 12
2 -30 +15
3 - 20 + 20
4 -15 + 30
5 - 12 + 60
6 -9 +90

What is the focal length of the convex lens ? State reason for your
answer.

For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

et U o deW W frefaRad wal <t it @i

G gd
(i)  Sshdl g
(iii)  dshar =
(iv) H&I &

(i) STadet gUul, 3TN (ii) I UV o GET Bk i g & foru fertor
Mm@ difem |

7 P.T.O.



21.

31/2/2

(c)

(a)

(b)

(c)

(a)

frfafiaa Mm@ d@, MM’ i3 37ddd cUUT & 991 AB s fore 8 | 39
fora &1 yfdfors 591 quia & fofe ot S-gfeas w fomor sm@
iy |

W

=Rl N SR

Define the following terms in the context of spherical mirrors :
) Pole

(ii)  Centre of curvature

(iii) Radius of curvature

(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

In the following diagram, MM’ is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

}
!

MI

W >

e 99 & fefafad e am &1 w1 e .
(i) oI

(i)  gRaTieRt

(i) ~ fopeeetta (efimm) <im

(iv) gemmef ofsm

(v) e



(b) I3 ARE 1 m ¥ A g W feua fawai o1 wawe 781 <@ uran | 98 fohm
3R dm @ fifsa 2 2 3@ g AW w1 Fwor ok IgeE S g e
TR ger o fore fomo e wifeu | 5

(a)  Write the functions of each of the following parts of the human eye :
) Cornea
(i)  Iris
(i1i)  Crystalline (Eye) lens
(iv)  Ciliary muscles
(v)  Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable

lens.

22. TEX 9 BId & ? T&U <kl fohd YohR SR ST & 2 B ot SAfufsean v
e Tl ffaw | o giaT 8 99 IS TR HifeaH E3gigETss & el
rfrfshan et 8 2 39 Tk o1 TETAfe AHieRtor, 19 3R 39 fafET | 5
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with

sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

23.  THferl AR IWAfT i 1 Teh-Th ITE1 AT | G40 | B el T h
T YR o st faved T | 9= grar 8 STa i WYl TRl IWh afdesn
T UEE A1 2 ? VSRR H Sl i dek B At gensi o aR H faRay | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

24, SARY F1 B g ? SHAd hE YR §9d & AR Sl Y &1 g fhm
JehT Toram STaT @ 2 99 e o 3teaeH d Siamedl o T8 ol Joai@ hIfST | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

31/2/2 9 P.T.O.
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SECTION B

25. THfaRad § 9 9SG 3T 1 9= AT

(A)
(B)
(®)
(D)

THTeE o U9 IR faaeht & Tg

HI b 7@ N THCE  TE@

fiaett o 9@ 3R HI@ & 9@

S<Ieh o 3TUYTE, T o IWUTE N [Buhel! & I

Select a set of homologous organs from the following :

(A)
(B)
(®)
(D)

Wings of a bat and wings of a butterfly

Wings of a pigeon and wings of a bat

Wings of a butterfly and wings of a pigeon

Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

26. e § Ypor i UfshaT W foTu FAfaiRad el § @ T€l HeF/HeAT Sl HT

L.

II.
III.
IV.

(A)
()

Sk HITRT @ AT 3ok &dfd ekl H fawfd gidt 8 3 ==&l
I 1 AfCdcd THTT g1 14T 2 |

e Sreffehd Shegeh g1 A1 AfYeh Hafd shrgerl | fawTfor gt 2 |
S 1Y b fohelt foRIY &3 H hig Hobdl IWRAT ¢ |

ST I ° AT B o IR Gpd U Toehf¥a greht 31 Taad Sig &4
Bl

Had 1 (B)  had III
hadl IT 3 11T (D)  had III 3R IV

Choose the correct statement(s) on budding in yeast from the following :

L.

II.

III.
IV.

(A)
(C)
31/2/2

A parent cell divides into two or more daughter cells and here the
parent identity is lost.

In this the elongated nucleus divides to form two or more daughter
nuclei.

A bud arises from a particular region on a parent body.

After detaching from the parent body the bud grows into a new
independent individual.

I only (B) I1I only

IT and III only (D) III and IV only
10



27. et B &l HIZ Y16 ik @ 718 2 fweh! wiww gl a7 gd % Afdfars 1
i & feRn H 3W e W 24 om g W O 96 W BIhd ek TG HdT
2 138 gt o IR § TEl e gHu | 1

(A) 12 cm %Y G I IAA G4
(B) 24cmm§°fqﬂ3ﬁﬁﬁ'€
(C) 24cmqﬁw@wwaq‘m
(D) 12 cm BIHE g H1 I TF

An optical device has been given to a student and he determines its focal
length by focusing the image of the sun on a screen placed 24 cm from
the device on the same side as the sun. Select the correct statement about
the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 ¢cm
(C)  Concave mirror of focal length 24 cm

(D)  Convex lens of focal length 12 cm

28. Whid % TId ¥ TERA Tt Tehrer fohtor o1 vy smflea o & fore f=fafea o

T garad YR Saedn giHv 1
I i 11 v

A I

B) II

(C) II

(D) 1V

31/2/2 11 P.T.O.
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31/2/2

Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

NN

I IT II1 IV
A 1
B) I
(© I
D) IV

Se Y foREl 3T OE R Tk g0 eadl, TEehl fmepfd e @ T 8, %
gfdfers sl 9¢ T HIhEd Hd 8, a1 9¢ T Thifers 6l ATl el fe@ms <l
72

(A) (B)

(®) (D)

12



When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on
the screen is

AN
W N4
(A) (B)
©) (D)
A\ A\
30. fmfafga M@ d w9 9 v gt Aferd fory U 8 2 1

A) | (B) “had Li3R LA
(C) /i, /r3IN LA D) /i, /A3 /D

In the following diagram, the correctly marked angles are

A Al (B) OnlysZiand LA
(C) ZLi,Zrand LA D) Zi,ZAand £ZD

31/2/2 13 P.T.O.



31.

32.

31/2/2

Ife o fopslt WEHet § $© YA I Wohl 3UH FHH HE H UEHifeR st
fremd o fm 38 fagmn =t welt-ifa feamd o $8 w09 % fou 38 qweaet
vg W oA faemmu-gamme @ <, af T 5 fiee uwarq o1 R Ser it ?

(A)
(B)
(&)
(D)

UHifesh T sl WA T I hl T |

IS LT TETA! hl qell WIS W R |
Wl 8 TTEH 8 & e Hed ® § |
el | s, TTEH IRl foeeH &9 T 7 |

If you take some distilled water in a test-tube, add an equal amount of

acetic acid to it, shake the test-tube well and leave it undisturbed on the

test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
©)
(D)

There is a layer of water over the layer of acetic acid.
A precipitate is settling at the bottom of the test-tube.
Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube.

freafafea armft o ag== § 9 forgert ST |gd 9 | foRam S &ehat B 2

(A)
(B)
©)
(D)

Fi9 =1 a1 R Hfcaaw gzgiFaTse
WS 1 dl AR HIfSIH BTEgiaTss
QS ddt 3 Aifead gEgiaaTss

i =1 d IR WY gegieETss

Which one of the following sets of materials can be used to prepare soap ?

(A)
(B)
(®)
(D)

Neem oil and calcium hydroxide
Castor oil and sodium hydroxide
Mineral oil and sodium hydroxide

Neem oil and magnesium hydroxide

14



83. TR TAFTRIET H AR A S h fT¢ el T = | f=faRad @@vi & a9
H 9 39 ggg I g, o fret ft 1 @au @l o9 oTga ST H Hietet

3N ST YT L Fehd 7 | 1
(A) NaCl; NaySOy4; KC1

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOg MgSO,

(D) NaySO,; CaSOy MgSO,

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in

distilled water to obtain hard water.

(A)
(B)
(®)
(D)

NaCl; NagSOy; KCI
NaCl; CaCly; KCl
CaCly; CaSOy4; MgSOy4
NagS0Oy4; CaSOy4 MgSOy4

34. hid % ITFAHR TAd W 45° o i G II(dd Thr fohtor &1 99 RRaq
SHIRTT | gada Hio1, Fid B0 R &d | ToRd W R0 § gH aret qiivash
fareemas <A1 99 fafew | 2

Trace the path of a ray of light incident at an angle of 45° on a

rectangular glass slab. Write the measure of the angle of refraction, the

angle of emergence and the lateral displacement suffered by the ray as it

passes through the slab.

35. (A

(B)

31/2/2

Ifg smqE WHifes o1 o fmfafaa g qoramt & Jeon i furd forem
& foTu g1 S, ot 31 o= foaw 2

(1) Y

(i)  Tofemq W y9E

Ife A9 TH WA § Th Feoh! WA RGN HraiHe TP oA
3IGH c-5g Hh UHIH ITFA SIat, dl ST G & FT UF HAT 2
Toregl Q1 & J&Ii <t F SIS | 2

15 P.T.O.
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31/2/2

(A) If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(11))  Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

el “TH % IS ok YU & fafid Wi R ggEE . 1 WA KT B
ek g YATS S STl 9fsham 1 guiq shifve |

You have to perform the experiment, “To identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

16



MARKING SCHEME Code No. 31/2/2

CLASS X — FOREIGN

Expected Answer/ Value point

Marks

Total

SECTION-A

QL.

HCHO; CHsCHO

Yo, %

Q2.

Testis; Ovaries

Y, %

Q3.

Ponds/ Lakes/ Rivers/ Deserts/ Forests
(any two)

Yo, Y%

Q4.

N

Ray diagram with direction of rays

Marking Zi and Zr correctly.

Yo+ Yo

Q5.

e Because, in a forest, various species are available
e Two ways:
i) Avoiding cutting of trees and killing of animals/ wildlife
i) Educating people about the importance of forests and wildlife in
sustainance of life on the earth

Y

Y

Q6.

CO,, water vapours, oxides of sulphur and Nitrogen
Harmful Effects; Global warming, pollution, green house effect (any two)

Q7.

a) X(19):2,838,1

i)VValency: 1

i) X is a metal

b) X0

c) X s more reactive than Na
X and Na belong to the same group. But Na is in the third period and X
is in the fourth period. Since reactivity increases down the group X is
more reactive than Na.

Y
Y

Y

Y

Q8.

e Atomic number is more important parameter than atomic mass as atomic
number determines the number of valence electrons which decide the
chemical properties of an atom of an element.

o Metallic character decreases from left to right in a period, because the

Yo+

Foreign —31/2/2

Page 2




tendency to lose electrons decreases due to increased attraction between
nucleus and valence electrons.

e Metallic character increases down the group, as the tendency to lose | Y2+ %
electrons increases, due to decreased attraction between nucleus and valence
electrons because outermost electrons are farther away.

Q9.
i
H C H
R N
C C
I I
C C
H,r’ x‘:::cf RH
I
H (3)
CeHs Vs Y
Difference :
Covalent lonic
Electrical conductivity | Do not conduct | Conducts electricity
electricity
Melting point Low High

(or any other)

Q10. | Carbon cannot lose 4 e~ to form C** cations, as very high energy is required to Y
remove 4 e
Carbon cannot gain 4 e to form C*“anions as nucleus with 6 protons cannot hold Y5
10 electrons.
Carbon can share 4e” to form covalent compounds. Y
Carbon compounds do not conduct electricity being non polar and do not form
ions/ charged particles. 1
Due to weak intermolecular forces of attraction, carbon compounds have low
melting points and boiling points. Y 3

Q11. (i) Natural Selection
(if) Mutation
(iii) Genetic Drift
(iv) Geographical Isolation
(‘any three) 3xY%
(‘brief description of any three) 3xY% 3

Foreign —31/2/2 Page 3




Q12.

Methods of tracing evolutionary relationships
1)Studying homologous organs:
Organs having same structural plan or origin but are modified to perform
different functions.
eg:Forelimbs of vertebrates
ii)Studying analogous organs:
Organs have different structural plan or origin but are modified to perform same
function.
Example:
Wings of birds and wings of bat/wings of insects and wings of bat

(any one)
iii)Study of fossils :
By studying fossils,we can know about the species which once existed.
Example:Dinosaur skull/Invertebrate(Trilobite)

(Any other)

Yo

Yo

Yo

Yo

Yo
Yo

Q13.

e Variations may arise due to small inaccuracies in DNA copying during
reproduction; as a result of sexual reproduction where genetic materials
from two different organisms combine to form a new organism.

o During adverse conditions some variations may give survival advantage
to the organism
e.g. a population of bacteria living in temperate waters. If the
temperature of water increases suddenly then most of the bacteria would
die but few_variant bacteria resistant to heat would survive and grow
further.

(or any other example)

2x1

Q14.

o Regeneration- Ability of organisms to give rise to new individual organisms
from their body parts.

e Planaria/ Hydra;

Amoeba/ Rhizopus/ Banana/ Sugarcane/ any other

e Regenertion is carried out by specialized cells which are not present in non
regenerating organisms.

Yo
Yo

Q15.

Placenta:A specialized tissue embedded in the uterine wall.It contains villi on
embryo side and blood spaces which surround villi on the mother’s side.
Functions:

i) Provides large surface area for glucose/nutrients and O, to pass from the
mother to the embryo.

ii) Wastes generated by foetus are transferred into the mother’s blood for their
removal.

Q16.

e m=-1
i.e. Image is real, inverted and same size as the object
and, Object distance = Image distance = 2f = 35 cm
e Nature of lens: Convex/ Converging
As 2f =35cm
s f=8cm =+17.5cm
2
e On displacing the object 20 cm towards the lens, the object distance
becomes 15¢ m (35 cm — 20 cm) i.e. it lies between F and O of the lens.
Image formed now is virtual/ on the same side of lens as the object.

Yo
Yo

Yo

Yo
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Q17. | ¢ Phenomenon of spreading of light by small particles in the atmosphere is 1
scattering of light.
e Blue colour of the sky — The blue colour of sunlight gets scattered more 1
than other colours (due to smaller wavelength) and enters our eye.
e At sunrise, sunlight passes through the thicker layers of the atmosphere and
travels through a large distance. Shorter waves are scattered and longer 1
waves (the red component) reaches us giving reddish appearance of the sun.
3
Q18. | (a) (i) During growing of fruit crops, pesticides are often used which may Iz
contaminate the fruit and hence the fruit juices.
(ii) by using contaminated ground water for making fruit juices. 1
('b) Bio magnification/ Biological magnification 1
The progressive accumulation of non biodegradable toxic substances/ chemicals
at each trophic level leading to their maximum concentration at the highest
trophic level (human beings) is called biological magnification. 1 3
Q19. | a) Observation no 3, indicatesu=-20cm v =+20cm
It suggests that object is at 2F
Therefore f =+ 10 cm
b) Observation no 6, because, here:
u=-9cm
Thus object is between ‘O’ and ‘F’
Hence image distance should be negative NOT positive
c)
A
}
Lom A
1
® L B
&—— ISOm ; 7]
2Ctm
Bt P0G Y
1
Al 1%
Magnification is approx = -2 A 5
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Q20.

Four definitions:

a)

i) Pole — The centre of the reflecting surface of the spherical mirror.

i) Centre of curvature — The centre of the sphere of which mirror forms a part.
iii) Radius of curvature — The radius of the sphere of which mirror forms a part.

iv) Principal axis — An imaginary straight line passing through the pole and the
centre of curvature of the mirror

Y% x4

b) (i)

Al
infinity

B

(i)

ot
(] ]

o
g_ =
£
-
\
\¥
2 '

B,

Q21.

a) 1) Cornea- To refract the light rays falling on the eye
ii) Iris- To control the amount of light entering the eye.
iii) Crystalline lens- To focus the incoming rays on the retina.
iv) Retina- To act as screen and send signal to the brain via optic nerve

Foreign —31/2/2

Y% x4

Page 6




b) Hypermetropia/ Long-sightedness 1
- 1
N N’
V\‘ / - A4 rd L
st 1
] *.ﬁf“n
Q22. | e Esters: Pleasant smelling organic compounds Yo
e Formed by the reaction of carboxylic acids and alcohols in the presence of 1
acid.
Equation :
CH3COOH + C;HsOH— —2%% 5 CH3COOC,Hs + H,0
( Ester) 1
e Sodium ethanoate is formed. Y,
e CH3COOC;Hs + NaOH—>CH;COONa + C,HsOH 4
e Name of Reaction : Saponification 1,
e Use : Preparation of soap 1, 5
Q23. | Unisexual Flower : Papaya/ Water-melon/ any other (any one) 1
Bisexual Flower : Hibiscus/ Rose/ any other 73
(any one)
Self pollination: The pollen grains are transferred from the anther to the stigma
of the same flower or to the flower of the same plant 1
Cross pollination: The pollen grains are transferred from the anther to the stigma
of a flower of a different plant. 1
e After pollen lands on a suitable stigma, a pollen tube grows out of pollen
grain and travels through the style to reach the ovary 1
e The male germ cell fuses with the female germ cell to form a zygote. s
e  Zygote divides several times to form an embryo within the ovule ¥
e The ovule develops tough coat and gradually gets converted into a seed Y 5
Q24. e Fossil : Preserved traces of living organisms are called fossils. 1
e Fossils are formed when the body parts of the dead organisms do not
decompose completely and are caught up in mud and eventually harden 5
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to retain the impression of the body parts. 2
e Age of the fossil can be determined by:
0] Relative method

(i) Carbon dating method Yo+ Yo
e Importance of fossils in the study of evolution:
(M Help us in knowing about the species which are no longer alive.
(i) Provide evidence of missing links between two groups of 1
organisms. (‘any one)
SECTION -B

25) d 26)d 27) ¢
28) b 29) a 30) c
31)d 32) b 33)c 1x9 9

Q34.

Diagram 1
Labelling 1 2
Q35. | [a] (i) Smells like vinegar
(if) Turns blue litmus red
[b] (i) brisk effervescence
(ii) evolution of colourless gas Yo x4 02

Q36. | i) Soak a few seeds of gram/Bengal gram/chana/kidney beans/etc and leave them
overnight.

ii) Drain the excess water.
iii) Cover the seeds with a wet cloth and leave them for a day.
iv) Cut open the seed carefully and observe the different parts.

x4 2
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